» 083 DIZIHALE Z=(307-04) FA{H Taf <
Che M
o SRR 3 o ol o
z A 1,774,449
3% 20084 o{MAE=0|CX} 2E|=FE|Z=Y5|7| X5 17,100
3% 20084 olist RYExg nFZEY 80,625
44 |2008HA L EZ=ATHY MAX| AZAIRH| X|Z 10,828
48 |Mot23383d 7|49l Exg X529l E 5,320
43 12008 olX| =AW BExEg W 2,323
48 |M28=| ZofeletotZLiE| 7Hlof E ExF X5 89,870
42 M55 ojglo|ld R Enoizl Hxg nRAY U g x|ZolF 20,900
48 |08H MutY| EHANE Ho| HHlHALExE 500
63 |[6.2507% M58FH V[HHA Ex g X[S2| = 8,640
= 6.250 % M58 7|EAHAL L M45| St At S 2ExF X2 = 18,648
68 |AHAESHlS B oK SALESO IE Ex 300
78 [eHEARESAHY FERAMs4FE V| AL ExF X Z2 E 3,040
78 HAUANSAF T HE 2AHGH =1 X2 3,000
78 |2008d SR0HEA ExZdY & X F 7,000
784 [M133 {32t 7| At wEEH & K= 14,250
8 FEHHAMHSH ExF X5 945,851
83 |2008H oltfst 2HE =7 WFAH 71,226
9% |MYEIH EHEMEAA ExaX = 5,000
908 |E=¢ 7 JteHd ExaXg 34,000
9% |2008 FRIAX|Z =22 WIES| 38,000
9g HAAJMX A 2|HE = AtH| X5 4,560
98 |AAHAESHEME J[HHAO E E= 650
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Che| X
ek Al = Y Hl 11
108 |4YESH HASE HXAYE Ex7 X = 24,992
108 | FEHY 2YH=EFA Ex3 X = 6,700
108 |Al123] =olold 7|daAt ExF X5 18,997
10 |2008K E A AFT A stobS HAEH B3 X2 20,000
108 |A23 F4tel stekel stotEdlAL Exg X = 6,650
108|084 sty EHE = M| Hu QIS ALE X 450
11 |H283 tHEH7| SFUSMAT oM s 2x3 X2 2,629
118 MR 2EEIIFT| ExF K= 7,980
11 |HIEAMI|25 19Fd 7|G8 A} 3,116
118 |20084 R 27t=E0 estle EH2AZ 3,034
118 |sgelel & AL E= 14,250
128 12008 B FAOtSX| EXICH & 5,700
129 |CH2EHY sholg s Exg 1 REd 2 X Zel g 10,000
1280|2008 =Tt He{@lAl IR ZEY 2 X Z2lF 2,300
328 |M143] 22|3.125 M A ALY 6,650
74 2008 sh=olZo=H 28 ExF X[ &2/ & 66,630
82 |2008 stEolLoaH I EXF X2 46,370
102 2008 RS AHEE AKX JAAIY (X edol) Ex2F7 X5 12,000
108 [M143 HZole G WAL ExF X5 58,021
102 |M203 HA2EH HAHEEF X 48,850
10" |2008 FUHBAHZE M AKX LAY "2 5B BHxF X Z 9,000
1228|2008 FHBHEE MEX|YAIY EXF X Z(ZE5H 20 5,000
122 |32 2009 MOl AL AFFE =T X 13,500
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